o ) ke 5] 3
- q g 2 € =
© o o ] =W
= < 0
3 _
o © S s | 2
« = a o < I Q
m m ™ er m‘w [a} S
© .
2 1 w = = m E =] g ®© 2
X P S o N o = o 2|1 nZ| § |5
Q2 2 Q © o > S |z Slaal 8 |2 ®
o > Ll = = g =90 |N 5| 8¥| < a
ol O o ST =~ 2= |9 21e= .5 |F 3
_ - - Wu P .mC €€ |Z O RER =
T - [a) o = 28 |35 Zslex|sc |<
e <C ®) o L £ X 5 g2 [ s |82 |28 |
2 = @« = 5| O goEZQ |[> ales |29 |
£ 2 w = < X cl = 8233 |Es| S|E8|Es
o o L < < | & coge |49 2| EN|E =
2 = o | Z N N 2] 8 € £90EF |22 = |coo |8 S)
X~ @ &) - S) O < N4 o O 2NO006 okt o | ¥ N |®» .
9 N - 2 o L s < T < T haet .w%ww e 3 — HS MRnN
o — = = - - £
e S 2 = 218 ~ g O = g < X8 E |zE| 3|53 g g
o = E B 8 5|8 N N 28 |3 s gez%|22|ez|32| 9% | @
o & © c 2 o 2 7|8 1< r x¥x<2 3| = @r®s |$2(25|38% S 5 :
e = N ) 8 £ N 4 . ;. O w 5| T oLEE2 |3%|20|95 o9 2
s ko] = © c © < - ) o _ ol h = Z |5 o =2 o =
o & o N ¥ £ 3| S ¢ Hag N ~=o >c|eg|cD =1 |81,
K p 8 &= 8 o o N ©) L | =9 o < o |2 E55
=< © 2 c Q] ur O Z|sc|© N I 8 =0
c c o) = c o . k) o o o o a5 |38z NIERB
g8 ¢ 5 § 9 o o ©°o 2 3 < == a To|oz |29 E Qs TH
s 53 2558 B 3S8 3|z C B8 |23 |88 . (B3] 0EE
2 o o > o @ = = | 3 5 |EsiEsS
T 8 &8 © > 2 & fo < £ g Z L & ez |GE|22| £ |R>| 5 |Seias
N = = © © c = [ N || y— = < = | ‘o I O N| £ |e5sES
© g g = S @ 3 s £ 6 © © O 5 EN |83 |wal £ || E|EEsEa
. ° ° 5 2 < v/ /2 R R R : N|CE|B5| § |
9] “ = = =~ ) D @ = o o o < = QZF | e | 82 » I
e 8 ¢ ¥ © £ »p/o /8 o o ° Z — emm Qx| Sa|NO 5 g
S N N & o v o/we N 3z 3 3 N 22|83 |asz E S
T & o 2 N @ o/ /a8 & @ @ @) 3 2
> © © 48 = N = B o a c c & g > 2
38 |3 g |8 g =
NN 55 |5 z < 3 Q
or |[< £ ] z T

LEGENDA

kowa
2,0mb

A

50 L

W1
/

owa
3mb

Rura przecis
k

21,

/

/

L

a przecis

DN65 L

Rur.

11,5mb

Rura przeciskowa

)
Q163
- [= g O N N N N N N T TS AT T v s
o RSN RN
™ w°
o) ol ® 9 e
= TR RN Ay 3
1~ I
a P
OA.w.. N . O
L0\ g ~ Fe)N o
Z \ 8« Q@ - NP Y
w0
D/ RN . Wi ~ T
NN 3 e 3 [N
/ ~a\e O L. RN
ok N RN
==
N N o . [NESEUN
~ ~ X»r/val/414,/4,,4/4,/411114,14a, N NN NN
,,,,,,,,,,,, AN N N - A 1> S
R N ™
..,...,.5.;...,..,...;.a,..,...;.a...,...;Q.va.L,Z,; D NN
w <
R NN NN - NN
T R R NN T N NN NN
A
N I O R < NI
0 R
:::::::::::::::::::: ] DR 1 S R T T T T T T T N ¢ -
N

IR ¢ Cv vy v s R N = RN N N L R R
N AR R N I N N R R R R
R DR - D e R R R
. N T TR TR R - S N R
44444444 AT~ S T T N N T T N N
2 Q= ~ ]
R N IR £ SN B DR T I I I I
T R 1] = NN e B RN N N TR

4,3mb

p
DN50 L

Rura
y

3 | o T, v RSN \ 18 s T LT NN NN N = RN
R e S e aa
.

E NN 2 S T R e T e SN G

P N TR T T T T T T 1 S PO




